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Exi

Sight

E
Pair

⑲

in



Ball: The number of 5-card

poken hands that
exist

(32) = 2
,
598
,
960

EX: Suppose you are dealt

S cards from
a standard

shcarddeck.Whataflush!
alflushes

⑳
⑭ & 4 royal

⑭ flushes



⑱ /

probability -

of a royale hand

flush

~ 0
.

000001539 ...

~ 0 .

0001539 %



# What's the probability

you get a pair
and nothing

better ?
-

Let's count how many pairs

there are

E1 : Pick a face
value

for the pair.

A ,2 , 3 ,$, 5 , 6 , 7 ,
8
,
9
,
10, 5,

Q
,
1Find# ways = (13) = 13

-



2: Pick 2 Suits for

the pair .

&⑧,
9[# way S = (2)= 6

4
8 40 :8V↳ 3

F
Step3 : Pick the remain iny
3 face values· They

can't Ibe the same & they can't

be the pairs face value



A
,
2, 3 ,X, 5,0, 7 , 8 ,9, 10,5 ,Q1I

# ways = (1)= = 220
I

?iL
ep4 : Fill in the
remaining 3 suits .

# ways=F(Y)(i)(i)= 4= 64
↓ ↓

⑭is



-

total # of pairs (and
not better

=B: 20.4 = 1
,
098
,
240

Step step step step
4

probability is
1 , 098,

24.

298, 960

~ 0 . 422569 ...

42 .
2569 %



E: Suppose you are dealt

z cards from a standard

52-card deck .

What's the

probability you get
a

blackjack ?

↳ taiB lackjack = A

-[EX :-D-



sample space size

(5)=
=E =2

# of possible
z card hands

How many blackjacks
are there ?

&1 : Pick the ace .

A8c·# ways= (Y) = 4?



Sep2 : Pick the next card.

5/108, 109, 109, 108 Pickthese, Jap, J &, 54
Q0, Q9, QP ,

Q

18, K, 19 , K

# ways = ) 'G) = 16

I I
⑭E

# of blackjacks=
=

probability= 0
.
04826

~ 4 . 8265 ...%


